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	Answer all the Questions. Each Question carries ½ Mark                        20×½ M=10M

	S.No
	Question
	CO
	Level
	Answer 

	1.
	Which join refers to join records from the left table that have no matching key in the right table are include in the result set:
	CO1
	L2
	

	
	a)  Left outer join

	b) Right outer join
	c) Full outer join
	d) None 
	
	
	

	2.
	Which of the following is NOT a type of relational operation?
	CO1
	L2
	

	
	a) Select 
	b) Set Difference


	c)Set Update
	d) Cartesian Product
	
	
	

	3.
	Using the Project operation, you can select ___ that belongs to a relation 
	CO1
	L2
	

	
	a) Tuples
	b) Attributes
	c) Operators
	d) None
	
	
	

	4.
	A list of the tuples that satisfy a condition and appears in the result is displayed in ___ operation.
	CO1
	L2
	

	
	a) Select


	b) Project


	c) Union


	d) Rename
	
	
	

	5.
	SQL Views are also known as                                     
	CO1
	L2
	

	
	a) Simple tables


	b) Virtual tables


	c)Complex tables
	d)Actual Tables   
	
	
	

	6.
	Which of the following is also called an INNER JOIN?
	CO1
	L2
	

	
	a) Outer Join
	b) Equi Join
	c) Non-Equi Join
	d) None
	
	
	

	7.
	________ command makes the updates performed by the transaction undone in the database?
	CO1
	L2
	

	
	a) Rollback
	b) Commit
	c)Truncate
	d)Delete
	
	
	

	8.
	Third normal form is based on the concept of
       
	CO1
	L2
	

	
	a)  Closure dependency           
	b)  Transitive   dependency
	c) Normal dependency          
	d)  Partial   dependency

	
	
	

	9.
	Every BCNF relation is in 
	CO1
	L2
	

	
	a) 1NF  
	b) 2NF  
	c)  3NF                       
	d) None

	
	
	

	10.
	___________reduce data redundancies and by extension help to eliminate data anomalies that result from those redundancies.                                                           
	CO1
	L2
	

	
	a) fragmentation
	b) normalization
	c) denormalization 
	d) aggregation  
	
	
	

	11.
	Which normal form is adequate for usual database design
              
	CO1
	L2
	

	
	a) 1NF   
	b)  2NF  
	c) 3NF   
	d)  5NF
	
	
	

	12.
	If every non key attribute is functionally dependent on the entire primary key , then the relation will be in
	CO1
	L2
	

	
	a) 1NF   
	b) 2NF  
	c) 3NF                       
	d)  None
	
	
	

	13.
	Left attribute in functional Dependency is
	CO1
	L2
	

	
	a) Dependent
	b) Generator
	c) Determinant
	d) independent
	
	
	

	14.
	Group of operations that form a single logical unit of work is known a
	CO1
	L2
	

	
	a) View


	b) Network


	c)Unit
	d) Transaction
	
	
	

	15.
	In order to undo the work of transaction which one should be used?
	CO1
	L2
	

	
	a)  View
	b) Commit
	c)  Rollback
	d)  Flashback
	
	
	

	16.
	Which of the following is not a recovery technique?


	CO1
	L2
	

	
	a)  Deferred update                   
	b) Immediate update  
	c) Two-phase commit              
	d) None
	
	
	

	17.
	Identify the properties of transactions




	CO1
	L2
	

	
	a) Atomicity  
	b) Durability
	c) Isolation          
	d) All
	
	
	

	18.
	Which operation is performed when a data item is locked in exclusive mode



  
	CO1
	L2
	

	
	a) Read
	b) Write
	c)  Rollback
	d)  Redo
	
	
	

	19.
	Every __________ schedule is cascadeless.
	CO1
	L2
	

	
	a)   Strict
	b) Non-serial
	c)  Partial
	d)  None
	
	
	

	20.
	A schedule is view serializable if
	CO1
	L2
	

	
	a)  It is equivalent to serial schedule  
	b)  It is view equivalent to a serial schedule       
	c) It is equivalent to non-serial schedule
	d)  None

	
	
	


